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=8 7t 1, 25% = ECOG £8=0, 74% = ECOG ™= 1, 16%+= CNS 0|7k ARACE. 0|0

2| gHt2 IS E(DSE 4 L 6)(N=100)0llA 91 %= O -0 3tetQ e BU1, 86%«= 0| 0| Wz 7|
& 0

S 91T, 32%1E 0|0 HUS WO, 16%-= 0|0 2H2| HAl R¥S HolC,

r
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H 4 0|M 2= 0| gl= MET-2HHO| 4 2y = 0| NSCLC - A[® A2201 (GEOMETRY

mono-1)0{A 0] ofE 0 &2 8xjo| w2y 21 (RI=20td Y : 2021'd 88 30¥)

ASE 5p (N=28) ASE 7 (N=32)
RS MefoE O ofof| ChSH| 0| 2F0f ch3t | O] ofoy| it 0| ofofl st
BIRCO| T7t| A[SRtO| HYL | BIRCO| It Al Aol HIt
] 3 67.9% 60.7% 68.8% 56.3%
A B2 E (95% (47 .6, (40.6, 78.5) |(50.0, 83.9) (37.7, 73.6)
b 84.1)
Cl)
24 BE2 n (%) 2 (7.1) 0 (0.0) 1(3.1) 1(3.1)
28 H2 n (%) 17 (60.7) 17 (60.7) 21 (65.6) 17 (53.1)
Bre 7|7t
HES 2L 4 n 19 17 22 18
AL, HE (95% 12.58 13.83 16.59 15.21
)C (5.55, NE) | (4.27,25.33) | (8.34, NE) (6.77, NE)
Cl
DOR>67HEZ2 E0| | 68.4% 76.5% 72.7% 77.8%
= SIZ}
DOR> 12 WYEE E | 47.4% 52.9% 50.0% 61.1%
0l= 3R}
5 96.4% 96.4% 100.0% 96.9%
AH EXE (95% (81.7, (81.7,99.9) (89.1, (83.8,99.9)
b 99.9) 100.0)
@)
DI Mz
A2 n (%) 18 (64.3) 23 (82.1) 19 (59.4) 22 (68.8)
218 2180 n (%) 15 (53.6) 22 (78.6) 15 (46.9) 18 (56.3)
AMSE N (%) 3(10.7) 1(3.6) 4 (12.5) 4 (12.5)
Zop7t I (95% 12.42 11.99 12.45 9.79
c (8.21, (5.52, 16.92) (6.87, (5.75, 16.36)
Cl) 23.39) 20.50)
LA A=
A 2 n (%) 17 (60.7) 13 (40.6)
27t I (95% 20.76 (12.42, NE) NE (12.85, NE)
an’
QF0{: BIRC, =712l =8 A& 2[¥3l; Cl, AM2| 1£72h CR, 24 BkS; DOR, 87|72 DCR, 2 &
Alg; MET, S2tg-A1| M0[; NE, 24 %ﬂ: NSCLC, HIiHIE 111I%F; ORR, XA8t&E; PR, & &t
2; RECIST 1y S 8tg "IH 7|&; SD, oHd .
ORR: CR+PR.
DCR: CR+PR+SD+Non-CR/Non-PD
RECIST v1.10]| e} 2R,
b _ _
22T (Clopper) & I|0{& (Pearson)&d & 0&t 95 % Cl.
SFZ21-01010f (Kaplan-Meier) 2% 2|0j 2743t




H 5.0/ 2|2 &2 MET-2HH0|

mono-1)0M O] &2 &

:2021'4 88 30%)

2l & 0|4 NSCLC - AI® A2201 (GEOMETRY
24 (Rt=0rge

ASE 4 (2/3L) (N=69) ISE 6 (2L) (N=31)
FEY TetolE of okoj| C§3t | O] ofof TSt | O] ofof Tk 0| okof| Cy3t
BIRCS| 7t A SO THIt BIRCS| It A SIAtO| It
3 b 40.6% 43.5% 51.6% 452%
M B2 & (95% Cl) (28.9.53.1) (31.6, 56.0) (33.1,69.8) (27.3. 64.0)
2t Bt n (%) 1(1.4) 1.(1.4) 0 (0.0 0(0.0)
B2 H2 n (%) 27 (39.1) 29 (42.0) 16 (51.6) 14 (452)
ue 7|71
BFSAt 4~ n 28 30 16 14
c 9.72 8.31 9.05 15.75
27 I (95% Cl) (5.55,12.98) | (5.45,12.06) (4.17. NE) (4.17. 27.60)
DOR > 6 72 € Eo|= 64.3% 60.0% 62.5% 64.3%
Iyl
DOR > 12 71¥E HO| 32.1% 33.3% 43.8% 50.0%
= 22t
3 b 78.3% 76.8% 90.3% 90.3%
2 EAE (95% Cl) (66.7, 87.3) (65.1, 86.1) (74.2,98.0) (74.2,98.0)
75 Mz
AA 2 n (%) 60 (87.0) 63 (91.3) 23 (74.2) 23 (74.2)
21t 2180 n (%) 54 (78.3) 55 (79.7) 21 (67.7) 21 (67.7)
At n (%) 6(8.7) 8(11.6) 2 (6.5) 2(6.5)
ZQHZF WY (95% Cl) 5.42 4.80 6.93 6.90
c (4.17,6.97) (4.11,7.75) | (4.17,13.34) (5.55,17.31)
HA| M=
AA 2 n (%) 53 (76.8) 17 (54.8)
13.57 (8.61, 22.24) 24.28 (13.54, NE)
27} 4% (95% CI)°
90f: BIRC, =72l SEH AE 9I3]; CI, A12) 72k CR, 24 8+S; DOR, 8687|2k DCR, 21y &
AlZ; MET, S2tE-4I| M0[; NE, 24 =7} NSCLC, H| A M T2 ORR , MAHEL2 8 PR, & &t
S:RECIST, D& 2 CHAF B2 T} 7|§— SD, O i
ORR: CR+PR.
DCR: CR+PR+SD+Non-CR/Non-PD
RECIST v1.10 Tet A,
3§111 (Clopper) & I|0{& (Pearson)d=t 0|gt 95 % CI.
9%%%-Df0|01 (Kaplan-Meier) 2 2|0 27{&t

(4) H| 2

1)

Al

oo
ox

1)

Hhe E0f

Jn
0x
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